eds 000 “3/1C"

eleciro drive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

OnHo-, ABYXCTOPOHHUI BBIXOJTHOM BaJl.

C/]D[DIJE[FI[F2]M]N Vv XY
VF 30 30[14|14[35] 5 [16]61 (96| Max13 | 5 |20
VFR 44 4018 [18]45| 6 |205| 70 [115] Mex16 | 5 [ 30
VF 210-250 % y VFIVF 49 60 (252565 | 8 [ 28 [ 89 [154] max19 | 5 [ 50
VIR 210-250 X
. . - 63 60 (2525165 8 [ 28 [127[192] Ma8x19 | 5 [ 50
- g al || w 75 D28|60 |28 (30 (65 8 | 31134199 max20 | 5 | 50
WR 75D30[60[30[30]65] 8 [33[134[199]M10x22] 5 [ 50
’ EED — VFW 86 50 | 35 | 35 | 65 | 10| 38 | 149|214| M10x22 | 5 | 50
— ¢ | 110 75 (42 | 42 | 80 | 12 | 45 [ 164 [244| M12x28 | 7.5 | 60
UNI 6604 T i 130 80 [ 45|45 | 85| 14 |485[ 176|261 M12x32| 5 | 70
N VF 150 85|50 509314 |535[185(278] M16x40] 75| 70
VFR 185 100| 60 | 60 [110| 18 | 64 |200|310| M16x40 | 10 | 80
WIVF 210 130] 90 | 90 [140] 25 | 95 [255]395| M20x50 | 5 [120
250 165 (110 [ 110 175] 28 [ 116315490 M24x64 [ 15 [ 140
c|Dp|D1|E|F|F1|F2| L v Xy
VF 30 30 [14 |14 [325/55| 5 [16 {120 M5x13 | 5 [ 20
VFR 44 40 [18[18]427] 64| 6 [205[149.4] Mex16 | 5 |30
K ¥ ¥ X | VFIVF 49 60 [25 |25 [632[ 82| 8 | 28 [208.4] max19 | 5 |50
e - - 63 60 | 25 [ 25 [63.2/120] 8 | 28 [246.4| M8x19 | 5 |50
i  E—— w 75 D28 |60 |28 (30|64 [127] 8 [ 31| 255 [ Max20 | 5 |50
i:_aE—E; WR 75D30|60[3030]64]127] 8 |33 ]255 [M10x22] 5 [50
L v c | e VFW 86 60 | 35 |35 |64 [140| 10 | 38 | 268 [M10x22| 5 |50
A B ) T 110 75 | 42 | 42 [79.3[155] 12 | 45 [313.5|M12x28| 75 | 60
130 80 | 45 | 45 [84.7]165] 14 [485[334 5| M12x32| 5 |70
VF 150 85 (50 | 50 | 90 |175] 14 |53.5] 355 |M16x40[ 75 | 70
VFR 185 100| 60 | 60 [105]190] 18 | 64 | 400 [M16x40| 10 | BO
WIVF 210 130| 90 | 90 [140]260]| 25 | 95 | 540 [M20x50] 5 [120
250 165 [ 110 [110[175]320] 28 | 116 670 | M24x64[ 15 [140

OrpaHuyuTenb KPyTAIIEr0O MOMEHTA.

VF..L
[+
Q
e N
Oéjﬂ
n] | L'.:ll w L
b ! -
] N
5 __I___ EI“
o l o
 —
L e .
Torgue limiter Single output shaft
c Q |a1|Q2| P S |BurBlwr| t1 (b |L|Dmw|E |F1|F2 | M N Vv XY
VF 44L 79 | 32 (32|12 48 (425 18 | 11 (208 6 |40| 18 |45 6 |205| 86 | 131 | M6x16 | 5 | 30
VF 48L 105 | 41 |51 |15|635|665| 25 | 14 |283| 8 |60 25 |65 | 8 | 2B | 1145(179.5| MBx19 | 5 | 40
W e3L 145 | 60 |40 | 40( 100 | 77 | 25 - |283| B |60| 25 |65 | B | 28 | 192 | 217 | MBx19 | 5 | 50
WT75L D30| 1545|635 (40|40 | 104 [ 100 | 30 - (333 8 |60 30 |65 8 [ 33 |161.5[2265|M10x22| 5 | 50
W 86l 170 | 70 |50 |45 113 | 119 | 35 - (3831060 35 |65 |10 38 | 179 | 244 |M10x22| 5 | 50
W 110L 191 | 775 |55 |45 133 | 134 | 42 - (45312 |75 42 |80 |12 | 45 | 200 | 2B0 |M12x28|7.5| 60




